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010 B SRR b 010100 # 0 24 6 45 40
020 ZUF 5 &R 020200 IS 48355 2 1 137 13 41 29
020 ZU 5 &R 025100 & fil 0 75 3 46 43
021 Giil b 027000 Giites 0 36 3 23 20
030 %R 030100 PRE 0 68 8 20 12
031 Bua 5 AL T I 120400 AFLE 1 101 26 16 0
032 bR ok 5 2 B 030200 BUR % 0 26 5 21 18
032 bRk 5 B 060300 7 s 0 52 5 12 8
034 By B3 B 030500 Oy B G 0 48 12 20 12
040 WE b 045200 ®E 2 111 36 42 6
041 H B 045300 DOEERBE 0 137 40 46 8
041 H B 050171 HIESHEHE 0 7 2 9 7
050 B E I 050102 BEFMANHES Y 0 27 9 7 0
051 SCAEBR 050100 WS E 0 39 3 20 17
052 AN E B 2 B 050200 HMETE F 0 27 6 20 14
052 HME T 2B 055100 HHi% 0 103 35 43 15
053 Wi 5 ALk b 055200 Wil 5 4% 2 317 112 46 0
070 Hep Rl 2B 070100 K 0 20 9 14 5
070 HOERL B 071100 REGRIE 0 3 2 16 14
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071 [ 2B 077700 AR 2 TR 13 4 35 31
071 = 086000 EM5EY 17 13 25 12
080 WLER JZ H B4k 2 B 080200 BUbK T8 58 14 53 41
080 WLER 2 H 34k 2 B 085500 B 194 107 125 35
081 MRS TR 25 070300 b2 38 10 40 32
081 MRS TR 22 080500 MERE S T 8 4 23 20
081 MRRFE S TR 20 085600 eS0T 6 1 27 26
082 & EREE THEY 080300 Jar T AR 10 3 19 17
082 & EREE TS 081000 G ES5mELE 23 5 24 19
082 & EREE TS 081100 EhRE S TR 29 5 20 15
082 & EREE TS 085800 RelRzh 138 52 33 0
082 & EREE THEYM 086100 BB i e 62 19 33 18
083 THENUR S S HARERE 083500 WA TR 82 18 34 17
083 THENURL S S HARERE 085400 HEE 435 176 73 0
084 T2 085400 HTEE 43 16 21 5
085 BB 081300 fEsiine 2 27 6 26 22
085 BB 085100 e 53 28 45 29
085 et 085300 g AR 7 2 40 39
086 LARTHRE B 081400 TARTHE 109 14 40 30
086 AR TREERE 085900 AR 178 44 67 51
087 b T2 071005 WA 7 0 4 4
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087 b T2 071010 VMo T AN 0 9 0 7 7
087 b T2 081700 e THRSHAR 0 18 4 29 24
087 b T2 083000 HERES T 0 21 10 22 15
087 b T2 085600 MRS T 0 7 4 36 32
120 TR R 120200 T 1 67 7 39 32
121 i Ui 2 120203 iR =i 12 62 5 15 10
126 MPAcc#( & H L 125300 2t 0 203 102 51 0
130 BV N4 135107 EAR 0 74 11 18 7
130 FEARFERE 135108 AR 7 83 32 20 0
131 & R SREE b 135101 TR 1 28 1 13 12
&t 38 3527 1052 1564 870
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